H & 0l & AHS B Ml A

20238 20ilaF et M
2H: URTED
B DIAXE(UNDRHE /L)
el UEd 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2S5 18,686,975 13,708,386 4,978,589
= 442,015
[ 377,000
= 3,112,840
Al 14,755,120
QIRRE (LSS Y/LLEy) 216,654 238,482 N21,828
= 60,715
Al 155,939
ol 29 216,654 238,482 N21,828
= 60,715
Al 155,939
gl 150,939 97,334 53,605
201 Ler=23 | 81,700 67,700 14,000
01 At2teltl 61,900 49,900 12,000
OFUSES 2= 23,000,000 23,000
ORI =g Let+=ZH| 20,000,000& 20,000
oRlgEs S#ZEHI 3,000,000 3,000
O= el 3,000,000& 3,000
OII=Z2 N 22| A= 2,400,000& 2,400
Ol JIEZN === 2,500,000 2,500
O%dz 84 =& 100,000 5 *43] 2,000
o023d 2AZYESRH 2E /AAE
4,000,000 4,000
oulE &8 U= 2,000,000& 2,000
2 55234l 19,800 17,800 2,000
otz S8 8,000,000& 8,000
Otls 2HEAE X HHISAIH|
5,000,000 5,000
OSSUALSAIAYE 2 2l
4,800,000& 4,800
oo=Hl XA 2,000,000 2,000
202 04| 6,000 6,000
01 2K 6,000 6,000
OZ2 =0 6,000,000& 6,000
203 gF=4| 3,000 3,000
03 A=A =] 3,000 3,000
ORI ¥ wESMHIA S HRFA
3,000,000& 3,000
303 Z&a= 2,000 2,000
01 &= 2,000 2,000
ORZAMBIA 22N X SR 24
2,000,000 2,000
403 AXIEHHSA=201E 21,739 18,634 3,105




2H: URTED
B DIAXE(UNDRHE /L)
el UEd 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 SIS0t 2 S A A 21,739 18,634 3,105
OXMH FUSEAILE 5
21,739,000& 21,739
405 AtatsE = 36,500 36,500
01 ML ESFSHI 36,500 36,500
Ol Y HATYOIZ 2B 7Y
360,000 *15CH 5,400
osls 2384l 7Y
600,000 »36CH 21,600
oRZHIe A2E MPE2 HES 2
4,500,000& 4,500
OFUSES M=l S|, MBI, A0
U 7 (S8S) 5,000,000& 5,000
OZAMS T&EE A& 13,280 13,516 N236
= 13,280
201 fet=23y| 13,030 13,266 N236
= 13,030
01 At2teltl 13,030 13,266 A236
o0 Sl tisE S5 MH
1,600,000& 1,600
= 1,600
O0d 25 & AlY EEE HH HH
6,900,000& 6,900
= 6,900
Oz 2 ARESH 4,530,000 4,530
= 4,530
202 04| 250 250 0
= 250
01 2L AL 250 250 0
o0& a=:a ol 250,000 250
= 250
QIFSIt A=A 3,000 3,000 0
201 er23| 3,000 3,000
01 AtR2t2|HI 3,000 3,000
OUTEI} A T 22 £ 7Y
3,000,000 3,000
IIESHSEANR 47,435 122,632 ANT5,197
= 47,435
201 fer23| 46,39% 121,592 ANT5,197
= 46,395
01 At22t2lt] 46,39% 121,592 ANT5,197
OIIEHHSEAR 46,395,000 46,3%
= 46,395
202 04| 1,040 1,040 0




M lERED
B DIAXE(UNDRHE /L)
el 2iEd 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,040
01 2L AL 1,040 1,040 0
OIIEZHSEAT 1,040,000 1,040
= 1,040
HEZAHSEAMR(XHA) 2,000 2,000
201 eer23y| 2,000 2,000
01 AtR2t2|HI 2,000 2,000
OUZZMAAEMHIA B
2,000,000& 2,000
suns SH(LSYLSF/USLS - S7RSIIE) 18,39%, 121 13,377,464 5,018,657
= 381,300
[ 377,000
= 3,112,840
Al 14,524,981
HWsussyd 11,541,004 10,527,258 1,013,7%
= 381,300
= 377,000
< 867,340
Al 9,915,414
Hsuns =4 13,000 13,000 0
201 2egh=3| 13,000 13,000
01 At2t2ltl 13,000 13,000
Oggt=ZH| 8,000,000& 8,000
O=EH| 3,000,000& 3,000
OfIRa =& 2,000,000& 2,000
Hsussd g2 185,700 174,000 11,700
201 et 3| 185,700 174,000 11,700
02 s3=gHl 185,700 174,000 11,700
Otlss & §&J| M=
12,500,000& «12& 150,000
ORQIHEIMet SRS
900,000 * 12 10,800
OFZA CHUD| EX23
1,200,000« 128 14,400
OoHASHE 2E91t M=
35,0003 250 2% 123 10,500
HESuSHAH KA 502,285 116,000 386,285
101 @124H| 18,785 0 18,785
MU ORINZENSES 18,785 0 18,785
OAILHHA =25 &AL 18,785,000& 18,785
201 er=23y| 74,000 74,000
01 AtR2t2|HI 6,000 6,000
OZZ2ALE Wl 3,000,000 3,000




M Dl RED
¥ Usns SH(USYLSF/UsnsS - =7SIIE
el Hsussd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=EXH# Zd| 3,000,000& 3,000
2 s5=34l 68,000 68,000 0
OHAZEAIAEY & SHIOIX FAl2c
48,000,000 48,000
OAMUHHAZEZ AN =22 WA
10,000,000 10,000
OAUHAX Y == d28 Wi
10,000,000 10,000
207 ARl 172,000 42,000 130,000
01 = 172,000 42,000 130,000
OAEAl EAINSEH SIIHE =8 9
150,000,000& 150,000
QAL A 2520t (2IHZAN & BXI=d
Sdsds ¢E 29 22,000,000 22,000
401 Al HIZL 048I 237,500 0 237,500
01 Al&HI 237,500 0 237,500
OBAZEZCHHI WA
9,500, 0002 *25CH 237,500
AUBA 22 s £428s A2 30,000 135,000 105,000
307 @120l & 30,000 135,000 105,000
09 2FHHEXS 30,000 135,000 105,000
OAlUHA 22 Ss&ds A
30,000,000 30,000
AIHARDE 28X 36,000 36,000
206 M=l 4,000 4,000
01 MHZH| 4,000 4,000
OSE3ad fAdES 78 N
4,000,000& 4,000
307 gl2to| & 12,000 12,000
02 QIZHEAAEE X 12,000 12,000
OZZAIHAEHDIE X
12,000,000& 12,000
402 2I2E X201 & 20,000 20,000
01 QIIN A EZ (XM THR) 20,000 20,000
OAABAEDE SFHA
20,000,000 20,000
AURHA =l d HEXH 4,329,000 0 4,329,000
= 100,000
Al 4,229,000
307 gl2to| & 4,329,000 0 4,329,000
=S 100,000
Al 4,229,000
00 2F=SAHEXS 4,329,000 0 4,329,000
Ol THEXIH 4,329,000,000& 4,329,000
[ 100,000




2H: UETED
¥ Usns SH(USYLSF/UsnsS - =7SIIE
el Hsussd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 4,229,000
SHEsE0 a2y 20,000 0 20,000
== 6.000
Al 14,000
307 212+01& 20,000 0 20,000
< 6,000
Al 14,000
09 2+ AE2LS 20,000 0 20,000
oSBT EABAT
20,000,000& 20,000
= 6,000
Al 14,000
gAsd 424 N2 145,000 145,000 0
[ 44,000
= 52,000
Al 49,000
307 el2to| & 145,000 145,000 0
[ 44,000
= 52,000
Al 49,000
09 2s-gAHAELES 145,000 145,000 0
oglld =42 d= 145,000,000 145,000
= 44,000
< 52,000
Al 49,000
LS WSIHE A OtelXl K& 4,200 4,000 200
= 2,100
< 840
Al 1,260
308 XXM SOIA 4,200 4,000 200
= 2,100
== 840
Al 1,260
11 SI[2S0 e YA AS A 4,200 4,000 200
OYSWEINE O1L2IX X2
4,200,000 4,200
= 2,100
s 840
Al 1,260
AMUHA WSIHE0IE =8 BH 30,000 356,000 25,000
307 elztol & 30,000 35,000 25,000
09 2+A2LS 30,000 36,000 /5,000
OusSst=0l8 =g 2
30,000,000& 30,000




2H: UETED
¥ Usns SH(USYLSF/UsnsS - =7SIIE
el Hsussd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAIE WEAHIA MBS 300,000 300,000 0
= 150,000
Al 150,000
307 el2to| & 300,000 300,000 0
= 150,000
Al 150,000
0 2=EHEXS 300,000 300,000 0
O338 A =24 & 300,000,000 300,000
[ 150,000
Al 150,000
MNatgiA 2 X 276,000 0 276,000
= 138,000
=S 69,000
Al 69,000
307 21201 & 276,000 0 276,000
= 138,000
= 69,000
Al 69,000
0 2=EHEXS 276,000 0 276,000
OM&HA 2 X&E 276,000,000& 276,000
= 138,000
= 69,000
Al 69,000
oA 1Y X2 420,000 0 420,000
= 210,000
= 63,000
Al 147,000
307 el2to| & 420,000 0 420,000
= 210,000
< 63,000
Al 147,000
09 2+ AE2LS 420,000 0 420,000
O&IIHA 2 XI& 420,000,000 420,000
= 210,000
< 63,000
Al 147,000
22E GAl XA (EctESIYAIREIAL) 373,000 373,000 0
= 183,000
== 91,500
Al 98,500
201 =3 7,000 7,000
01 At2t2lt] 7,000 7,000




FA NS
¥ Usns SH(USYLSF/UsnsS - =7SIIE
el Hsussd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS2HBEIYAMEAl NFCIHE 2E
4,000,000& 4,000
OECtE S| YA Al 22|
3,000,000 3,000
301 22N = 366,000 366,000 0
= 183,000
= 91,500
Al 91,500
14 JIEt2as 366,000 366,000 0
OECtZ SIS AEEAl At
366,000,000 366,000
[ 183,000
= 91,500
Al 91,500
g RIHEX 3,446,000 4,246,000 800,000
307 @I2t01 & 3,446,000 4,246,000 800,000
09 2=FAHEXS 3,446,000 4,246,000 A800,000
OoHA RIIEXS 412,000,000 412,000
O=Al RIIEXS 1,008,000,000& 1,008,000
Ozt RIE2X= 2,026,000,000& 2,026,000
BA2ENE 117,469 59,258 58,211
307 @20l & 110,868 53,868 57,000
02 QA HAIEE X 57,000 0 57,000
OBRAIHAIS, dUs, 2= U WALl X
el 57,000,000 57,000
QO 2= HEXS 53,868 53,868 0
O=HAl S4ldl XI&A 32,868,000& 32,868
OE=Al 2XtAlHIA X2 21,000,000& 21,000
402 2IZtA=01d 6,601 5,390 1,211
03 2IZ+RAETAIZ I 6,601 5,390 1,211
ORAIZHI22ACIANAY 2L
6,601,000& 6,601
WS OlsEsd 692,400 417,000 275,400
< 84,000
Al 608,400
201 er23 | 2,400 2,400
01 At2teltl 2,400 2,400
OuSHA SHAl X cHE
2,400,000& 2,400
307 gl2to| & 500,000 397,000 103,000
05 212t =S 500,000 397,000 103,000
OuSSfA SHAl 238l X&
500,000,000 500,000
405 KHaHE SH 190,000 0 190,000




2H: UETED
¥ Usns SH(USYLSF/UsnsS - =7SIIE
el Hsussd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 84,000
Al 106,000
01 AL =S F = 190,000 0 190,000
OREAX 2A XY 2
190,000,000 190,000
= 84,000
Al 106,000
SgusSsH REE Sd8s AH 2,000 2,000 0
== 1,000
Al 1,000
307 212+01& 2,000 2,000 0
< 1,000
Al 1,000
05 2IIRIE =2 2,000 2,000 0
OSEUELH SEEE EH2 A
2,000,000& 2,000
= 1,000
Al 1,000
BARs JIEZM =2 K& 100,000 100,000 0
== 50,000
Al 50,000
307 212+01™ 100,000 100,000 0
[ 50,000
Al 50,000
09 2+LAE2LS 100,000 100,000 0
OHAIRE =M =8 X
100,000,000 100,000
= 50,000
Al 50,000
EAIZAZ A KA 128,000 192,000 64,000
= 31,200
Al 96,800
301 EtE NS 128,000 192,000 264,000
= 31,200
Al 96,800
14 JIEt2 8= 128,000 192,000 264,000
O=AIZRIE 2 & 128,000,000 128,000
= 31,200
Al 96,800
ANESE 28 gdal 350,000 500,000 /150,000
= 350,000
307 glztol & 350,000 500,000 A150,000
= 350,000




od
i’
oF
uJ

S 8188 1< S S 8188 < il S81°|° 8
S S22 S S S S|a|S S S
mm z S IRRs &
o
E=)
8 28|18 818 S S 8188 S 218 8188 e
S S|3a|S S|S S S ST S S|S S|3S|S
g 1 halis | w o 8188 8 |88 SIEIE
LH3r | < | | ©
)
RIS
88 881818 8 8|8|8 S 8 88 I8 8 81888 S 38 38I8I888 8 8|8(8(8 318
S S 3S|8|gls & glgle & S S S S 58§ 359 S S 959|895 S olglgla S8
g8 gls|®® - ~lglg 2 ©° ©ve 2823388l ~R88glgssd 8 8lgle|e <8
Zr © o < —
<
S
H H <
W ® W ® o o W ] ] oW wm o G|
g g 8 g 8 8 8 g 8 £g § § g
o | g g 8 2s 8 & B g 8 58 & § g
Mw 3 w W - = < # BB z8 8 =
: = ue £
30 - R ol o 0 &
= 5009 LH = o ™
< K0 R K @ o R 5
It W W T = o w o L
= w I i I ETRR R0
0 ~J ulo — 2 & = = — R A K
~ o n o< < = 0 = ko il
= <0 WS W =Wow © ) B R 5
o H £l Wk &J ol i = _ K0 RO W< 3 = _ ~
= |0 m= g L L D R WD J W3 K| )
oF K o o = 8l 3 ™ X 3 KO = = = 7
x A EA L R =0 5 3 =« Tlsls s w B o |Tlslzn |5
o) | . R — 2 | =0 =2 =< 212w T 20 Koo K =lz|=2 & |2
A _IR|Ez R < |®|% s Moo W | X le|m gt & 0ok "o noH | Kls o W
= [0 [Fnjad T gl S W m =< |P W oy |7y R = = = (R U E -~
A R Dl &+ 2 A8 BT <= 3" | on |z ok B Ao =z I A0 < <0 gy lmfof WO |-
K 0 < m | ol [0 O al ollal <™ A ol ol < o | on|= A M I|=|= B W F H EIEEE 5]
. © & © © © ©) © © 7 = © © © 0O © ©) = ©
z |8 M 5|8 3 o =|g|3 8 “|z|5 slg13 5
o | &> ™ = o] | N < K| N eV}
I+ E EM_V Bl oJ
=




SN IRDED
¥ Usns SY(WSYLSF/UHsnsS - =7SIIE
Cel: WSAE=S 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 H1ESHI 50,000 0 50,000
O=XY =3 &HZA 89
50,000,000& 50,000
401 AIEHIX R0 1,800,000 1,600,000 200,000
01 A28l 1,800,000 1,600,000 200,000
OusL=I| X 100,000,000 100,000
OLED 8EHEST 2] wxl
50,000,000 50,000
OL=usHSI| Wil 200,000,000 200,000
ORSAISHOI WA 100,000,0002 100,000
ORI NETBIY 24X
200,000,000 200,000
ONS:-HIA MM 450,000,000 450,000
OUSATAILD HAX S WSUHTAIE=S N
& 50,000,000& 50,000
O N LAXN S WSUHTAIZE e
100,000,0002 100,000
OSUEH F2 R REAFAL &X
100,000,000 100,000
OusSHS)| LEHEAYX €
100,000,000 100,000
OXZAMNEE & MHdAMS =Al - 2
50,000,000 50,000
O St EX|(LED) H& 100,000,000 100,000
OAME1SH AFDFSFR2E SHNAIZ =
e 50,000,000 50,000
OuSAE=E =Xl - 2 150,000,000 150,000
FRHEFE NS A S (D EALY) 4,300,000 500,000 3,800,000
== 2,050,000
Al 2,250,000
401 AIEHIZ SR OHYI 4,300,000 500,000 3,800,000
[ 2,050,000
Al 2,250,000
01 Al&H| 4,300,000 500,000 3,800,000
OZZ SEFIE Zd(22¢H)
4,300,000,000& 4,300,000
= 2,050,000
Al 2,250,000
2l A SA7Y HAEE HAIAY 20,000 20,000 0
401 Al HIZ S OHbI 20,000 20,000
01 A28l 20,000 20,000
OZU FEX=AFSE HALH HAIAY
20,000,000 20,000
SN HENCFE MY FHAFIUHE Zd(HEA 185,000 134,000 51,000
2)
= 185,000




2H: UETED
¥ Usns SY(WSYLSF/UHsnsS - =7SIIE
Cel: WSAE=S 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 185,000 134,000 51,000
= 185,000
01 AlZ8| 185,000 134,000 51,000
OSNZY UECSSSAL (FAXFAE
xd)(2-2etA) 185,000,000 185,000
< 185,000
WSASANSE WELXE f BHE T DESE &Y 30,000 0 30,000
EX(E =LA
[ 9,000
Al 21,000
401 Al HIZL 201 30,000 0 30,000
= 9,000
Al 21,000
01 Al&H| 30,000 0 30,000
OuSASNS UHESE & 8HET LD
g =8 &X 30,000,000 30,000
= 9,000
Al 21,000
WESE3 24 et 167,067 231,206 A\64,139
< 1,500
Al 165,567
=Y FEI H5 100,567 163,206 62,639
101 @124H| 48,527 46,206 2,321
M ORIMZZ2NSE S 48,527 46,206 2,321
OUEHAFRIE 2tel(Ql24H])
9,620 x32+BA| 2+ 186 42,944
OUEHAFIE 2e|(4HEER)
465,250« 123 5,583
201 et 3| 46,000 41,000 5,000
01 At22t2l] 9,000 9,000 0
oget=ZH| 4,000,000& 4,000
OFINEHE S| 5,000,000& 5,000
2 s5=34l 37,000 32,000 5,000
OsSY=gditts 2ERS
750,000 x 122 9,000
OSYFIIHS IV SMes
16,6603 10CH* 123 2,000
OXtgrset] 11,000,000 11,000
O=dxt UHs HRAIAE RX2c/|
5,000,000& 5,000
OX%ETHE SHHAAR 2 o 242
5,000,000& 5,000
O=SYHFEXHE ENLE AL FX2
Bl 5,000,000& 5,000
301 EtE N = 6,040 6,000 40
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